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L- Solve using the algorithm. Draw and bundle chips on the place value chart.

L27 + 45 :72

L7,V
+45
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2. Solve using the algorithm. Write a number sentence for the problem modeled on the place value chart.

17 3

I draw chips to show each addend. 7 ones plus 5

ones is L2 ones, or 1 ten 2 ones. I bundle the 10

ones to make 1 ten. Now I just add the tens. 2 tens
plus 4 tens plus 1 more ten is 7 tens. t hundred plus

0 hundreds is L hundred . Sa 127 plus 45 is 172.

I can count to find the first addend: 'j-44,1L0, L20,

L3A, L4A, 14L, L42, 143, 144, L45. The fi rst addend

is L45. Now I countto find the second addend: 10,

2A, 21, ZZ, 23, 24, 25, 26, 27, 28. The second

addend is 28.
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Lesson 9: Use math drawings to represent the composition when adding a

two-digit to a three-digit addend.
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